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ESTIMATING COSTING AND VALUATION

Fraffa awa . 39 (FAftrean 31 : 60
Time allowed : 3 Hours| [Maximum Marks : 60
Pz () WVH-mAAATGEAY AT HE
Note : There are THREE sections in the paper A, B and C.
(ii) Q¥ Cd g el a9 10 YT % I AT | G I T 3F FT 8 0
@t 10 9777 TGHE FFR F T F 2 |

Answer all the 10 parts of the question No. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.

i) QFwT @ & 8 YA § @ fHE1 6 5 & IH AT | IAF FH 3 3% FTRTT
g7 5 T / 50 W™ 7 377 G |

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) Q@A E F 6 v 7 G fFE1 4 vl & FaT AT | YAE G978 3 F1 8 T
77 15 1% / 150 11 4 37 2T |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

(v) eie S & G I B FAGR T G1Y & HIHAT |

Solve all the questions of a section consecutively together.
(i) 2T uria A s g #1 Rl A S IgEr @ A 8 |

Only English version is valid in case of difference in both the languages.

FHH - T
Section — A

1. @) ézﬁaﬁartﬁw&ﬂaﬁmmm%aﬁﬂamﬁﬁzﬁ%

(a) 1085, (by 15%.H.

(c) 20%.1. (d) 3 A H1E T

Brick walls are measured in sq.m. if the thickness of the wall is

(a) 10cm (b) 15cm
ﬁ (¢) 20cm (d) None of the above

(10f4) P.T.O.
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(i) WA W HEIH & ATHR Higger 521 1 andide 6N 2
(@) 23cmx1l.5emx75cm (b)) 25ecmx 13cecmx 7.5¢cm
(¢c) 19ecmx9cmx9cm (d) 20cmx 10cm x 10 cm

According to Indian Standards Institute, the actual size of modular bricks is
(@ 23cemx1l5ecmx75cem (b)) 25cmx 13emx 7.5¢cm

(c) 19cmx9cmx9cm (d) 20cmx 10em x 10 cm
(iii) wafera Hiie sahe & s 6t ufq s ufs feag w0t auar 2
(a) 2.0m? (b) 3.0m?
(c) 4.0m? (d 5.0m?
The expected out turn of R.C.C. work per mason per day is
(a) 2.0m3 (b) 3.0m’
() 40m’ d 5.0m’
(iv) s Ao | fudt & +rd &t gerd, = firdh & foro wfafem smféa 2
(a) 1.00 cu.m (b) 2.00 cum
(¢) 3.00 cum (d) 4.00 cum
The expected out turn for earth work in excavation in ordinary soil per workman
per day is
(a) 1.00 cum (b) 2.00 cum
(c) 3.00 cu.m (d) 4.00 cum
(v) afg ot wmi fmion it sterd B 2, woa &1 mewd d 2, wivd @€ 5 - 1 2, wd Sy
21 El 2, dl I WU H] BE%e A
(a) Bd+ Sd? (b) B+d+Sd
(c) Bd+ % @) ;_ (Bd + Sd)

If B is the breath of formation, d is the depth of embankment, side slope S : 1 for a
highway with no transverse slope, the area of cross section is

(a) Bd+Sd? (b) B+d+Sd

(c) Bd+ S_;'_ (d) % (Bd + Sd)
(vi) < faverau =i yurfad & et o 2

(a) @t < IaHan (b) HETA & FIE

(c) frmfor gaman (d) ITra |t

Factors affecting the analysis of rate

(a)  Quality of material (b) Ratio of mortar

(¢c) Efficiency of construction (d) All above
(vii) wafera e st =i a9 s 2

(a) = (b) @i,
(c) . (d) @,
The R.C.C. is measured in

(a) Cum. (b) Sq.m.

(c) Meter (d) cm
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(viii) Te7 TR # ufadd % $rw, afe @vifia geem daR e s 2, 98 wfiga
Wiahed § 3Afueh &l Fehdl 2
(@ 4.0% b)  5.0%
© 10.0% ) 15.0%

(ix)

(x)

Due to change in price level, a revised estimate is prepared if the sanctioned
estimate exceeds

(a) 4.0% (b) 5.0%

(c) 10.0% (d) 15.0%

21 fareryor 8 10 =7 et 2 fard 3 fore ypeh waret <t s oft <l 2 -
(@ 1m’ (b) 2m’

() 3m’ (d) 4m?

In analysis of rates, the quantity of dry mortar for 10 m? of brick masonry is taken
as:

(a). 1 m? (b) 2m?

() 3m? (d 4m’
mmmﬁmmﬁmmmmmmm% ?
(a) 10% (b) 6%

(c) 4% d) 2%

What percentage of the cost of the estimate is provided for the work charged
establishment ?

@ 10% (b) 6%
(c) 4% d) 2% (1x10)
Yo — it
Section - B
2. wTEhe % Jevdl i fafed |
Write the purposes of estimating. (3)
3. o TS T T |
Explain work charged establishment. 3)
4, FRS TEheH H GIAEA |
Explain the supplementary estimate. (3)
5. fafv wer 4 gl H @ |
Explain the various types of sanctions. 3)
6. e gftae HI aHEEd |
Explain the measurement book. (3)
7. peEt =4d &l FHHTE |
Explain the contingencies. 3)
g, o g H AHATE |
Explain the schedule of rates. 3)
o i ot gl @y ) AT Ueh! Hl AR |

Explain the factors on which rates of items depends. 3)

P.T.O.



CE5002/CC5002 (4 of 4) 7338
dE - €t

Section - C
10. foa d@-1 ¥ femm o waa & o e 1 figdt 3 wrd & amn & e $if |
Calculate the quantity of earth work in foundation for a building as shown in Fig.-1.  (8)

S
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Doors D= 120290
Windows . W = 1.00 x 1.50
Shetves §=1.00x 150

=iy Loisempcc sw
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030 420
2.8 em Coment Conc.
- 1:2:4
25omDPC 1:2:4 10 cm Cemant
Cemant conc. \ Cone. 1:5:10

Sacoon of 8 wad 1:7:20
(AX dimensions i m)

fa3-1/Fig.-1
11. foa gwn-1 1 fegm mu wam & fore sifuaan o yuw 2oft $2 % =5/ 6t aen 6t o fifse

Calculate the quantity of 1* class brick work in superstructure for a building as shown

in Fig.-1. (8)
12. He& & fou fydt & = & arn frarea 6 fafies faftr = geg o aofa =t )
Explain briefly the various methods of finding earth work in road-work. (8)

13.  wun goft <1 €2 foard @ % | : 6 dive waet i e § v et F Imm w
fergergu Hifsw |

Prepare a rate analysis for the first class brick work in 1 : 6. Cement sand mortar in
superstructure as per local market rates. (8)

14. Hnfe Fshre 1 : 2 : 4% 31quTa 9e i faga fafufeat fafaw |
Write down the details specifications for the item cement concrete inratioof 1 : 2 : 4. (8)

15. &t H gers i 3uan TE § 379 91 qUd & ¢ s |

What do you understand by economical depth of digging for canals ? Explain. (8)




